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1. Introduction

MBMS is a point-to-multipoint service that allows data to be transmitted from a single source entity to multiple users. A basic working assumption of this feature is that it should enable the efficient use of radio and core network resources. This assumption is applied on the Iu interface by establishing only one transport data bearer per MBMS service between the RNC and the core network. The Iur interface is not affected because data traffic is not allowed to pass through it. It is only used for MBMS signalling flows like for example “MBMS Attach/Detach”. For the Iub case there are two possible solutions that are examined below.
2. Discussion
When the RNC receives a Session start from the Core Network, it needs to determine the number of users subscribed to the service. If the number of users is below a particular threshold (which is implementation specific based on downlink radio efficiency), it may decide to build a  p-t-p connection towards each user. This means that 1 transport bearer on the Iub interface will exist for each p-t-p connection. On the other hand if the number of users is high the RNC may decide to build a p-t-m connection. The issue here is if there should be one Iub transport bearer per cell or one Iub transport bearer per Node B covering all cells. 

One Iub transport bearer per cell:

Advantage:

· No change to the NBAP or framing protocol required. Establishment of the transport bearer doesn’t require any additional information to be included, because as it is currently defined, the set-up of the data bearer is “cell” based. 

Disadvantage:

· The number of transport bearers established is dependent on the number of cells served by a Node B and belonging to a certain service area. 

One Iub transport bearer per Node B:

Advantage:

· Only on Iub data bearer covering all cells of a Node B hence saving transport network resources.

Disadvantages:

· Replication of data to all cells irrespective if there are users currently attached to a particular cell.

· Extra functionality is required at the Node B in order to avoid transmitting packets to cells that don’t serve any users.

· Changes to the NBAP and framing protocol required because the RNC has to send all the Cell ID’s in a service area covered by a Node B.
3. Conclusion

From a transport point of view the second solution fulfills the requirement of the efficient use of network resources. One the other hand solution one is much simpler since it doesn’t require any changes to existing NBAP and framing protocol and it doesn’t apply any additional processing burden on the Node B side. So we believe that solution one is more easily implementable in the Rel-6 time frame and propose that RAN3 agree on having one Iub transport bearer per Cell.















































































































































































































